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T~l'lil1e to the initial coordinate system from formUlas (5) and (6), 
. . 

l e t us note t ha t due to the orthogonality of the coordinate transformation 

;; q 
UX' = .)7: ; 

;; . a q 
:;--7 = SID <p;;- - cos <p '?i': ; 
"11 v!l . v_ 

a u+. /J 
iJ . , = cos <p;;- SID <P -iJ. , 

- "11 ' • 

F~ = F 1 ; F~ = F2 sin cp'- F3COS<P; F; = F::.cos <p + F 3 sin <p, 

·.:r.E.r·t:?l' F2 and F3 are equal, r e3pectively., to the right sides of equa·- i., 

t i ons (7) with the elimination of primes on all letters. 

Then., 

. + 00 I 

Q= -~~ ~~~[LlQ ;1 JoC~:ll)+LlQIJ:l ~JO(2~~1 'C)d.]dx'd!l'd:'+ 
~ . ' 0 

001 

+ ~~~ ~ {l- (F1Z + F2'J + F3Z) ] J!l :, J00~i (t'-T») + . 
-000 

+ 2w [sin <p (FI'J - F:uJ - cos <p (Fll - F 3z)i ~ J o f2.OOSz (t - 'C») ~ 
. ~ ~~ 

400' 
- Rl [Fa'Jcos2<p + (F2z- F3'J)sin <pcos<p+ Faz sin2 <p] X 

'-y . 
.. X ~ J 0 ~~:1 .• ') dT'} d. rh' dy' dr.'. (11) 

o 

lihen s ol vi ng the problem fOr' .a half-spcae we will consider that when 

z = O ~ ~z = . 0. Separating in (11) the integrals which are functions of 

z and z ', we c~n represent thee thus: 
00 00 . • 

~ <p (z.') 'i' [(z - :')2] o,z' = ~ {<p (z') 'i' [(z _ 'Z')2) + <p (- z') 'i' [(z + :.')!)} d1:. 
' -;00 o · 

r eQuiring that 
00 

:: ~ {<p (z') \jJ {(z.- z')!ll + <p (- z') 'i' [(z + z')2j}.r-od~' -= 
o 

' 00 I 

= ~ {cp (r.') 'i" (:'2) 2 (- z') + CPo (- :') \jJ' (Z'2) 2z'} dz' = .0, 
o 

cp (- :') = <p (z'). 

This ' i ndica t es t hat for a half-space in formul~ (lJ..) we should consider 
. . . . 

· 'th~ 1:-'1tp:t;'rals of ·the · examined type equal .' to . . 
co. . ' . co . . • '--.~ . ' 

.. ~ "cp(z') \jJ.r(r.~z')2) dz' = ~ . cp (~i). N [(z --z~)') +'1> [(z .-t z')IIJ)d( .: ... - .~ 
-co '. .. ' . " . .0 ... -: . '.' '._ '. . ' - .. ' '. ' :~ . . •. ' 
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